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No. |R51| FE%K ERISFT ER#4 REE
1 | M-a| 1F |BTD EZMVERY—F 55.17| 1/D 4/
2 | Fy=4| 1F  |XRBE1 AR E M IRG 5.84 1/D 1/D 1/D 1/D 4/
3 [F)-h| 1F |BTO® EZMVERY—F 54,05/ 1/D 4/
4 |F)-4| 1F |%RB2 AR E M IVRG 7.04 1/D 1/D 1/D 1/D 4/
5 |F)-4| 1F |BE=E 4Vh—A"yb 55.50 1/D 1/Y
6 |F-4| 1IF |EHBE EZIV RS- 26.65|| 1/D 4/Y
7 | V=L 1F |MLU(EBE) BrBE MRy —H 4.86[ 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
8 |My-A| 1F [FAE= BB =V ERY—H 20.00 1/D 4/Y
9 |M)-4| IF |REMSHEEE FRIRURE =RV —F 40.00( 1/D 4/Y
10 | My=4| 1F |BREHEIEE FERIRIRE VRS —h 32,00 1/D 4/
11 | P-4 1F |fEEIIREA FRIRURE ZIVERY—F 47.50( 1/D 4/Y
12 | Fy=a| 1F  |$EEIIHEB BERIRIRE 2R —h 47.50( 1/D 4/
13 | Fy=4| 1F |$EEIIKEC BRI RV~ 4754 1/D A%
14 | Fy=4| 1F |BREGEHIIKEA-B) EZVERY—F 21.75 1/D 4/
15 | FY-L| 1F |BRBREGRZIIHEC) EZVERY—F 15.25/( 1/D 4/Y
16 | Fy=4| 1F |kALA1 BB =V ERY—H 19.57| 1/D 1/D | 1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
17 [ F=a| 1F |kqL2 B BE ZIVBRY—h 13.72|| 1/D 1/D|1/D | 1/D | 1/D|1/D| 1/D| 1/D| 4/Y
18 | FUy=4| 1F |FLAIL—L 7A=Yy R =N 108.77|| 1/D 4/Y
19 | FY=L| 1F |BREG VL) EZVERY—F 31.68| 1/D 4/Y
20 [MY-L| IF |—BEYEERRKSE FREEEN 2 33.37 1/D 4/
21 [M)=L| 1F |[FMMLU(—BFRYEERRE) BhiBE =V ERY—F 6.49| 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
22 [My=L| IF [BFMML-ZFRLEER) BB IRy~ 9.50( 1/D 1/D|1/D| 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
23 |FY-A| 1F |BEFEKRE 4Nh—A"yb 462 1/D 1/D 1/Y
24 [M)=L| 1IF |BFEKRE EZVERY - 12.21 1/D 1/D 4/Y
25 | Fy-4| 1F  |HRFEKRE1 EZIVERY—h 11.62 1/D 1/D 4/Y
26 | FY-L| 1F  |BEE=E BB ZVERY—b 8.80| 1/D 4/
27 |Vy-5| 1IF |B & EZIVERY—h 18.82 1/W
28 1F |[fRRRIEHEEE BERIRURE IR —h 69.16/ 1/D 4/
29 1F|ERiBEE2 FRIRURE ZIVERY—F 61.87 1/D /v
31 IF |HTREFEKRE EZVERY—F 7.12| 1/D 1/D 4/Y
32 IF |TRBFEKXRE EZVERY—H 462[ 1/D 1/D /vy
33 1F |EREBE EZVERY—F 19.05( 1/D 4/
34 1F &= EZVERY—H 27.29| 1/D /vy
35 1F |B—2RE EZVERY - 16.99|( 1/D 4/Y
36 1F |2 R=E Ry~ 16.99(| 1/D a/v
37 1F |E=2R=E EZVERY = 16.96] 1/D a/Y
38 1F |MUE=ZZEE) BhiBE VRV~ 3.12 1/D 1/D | 1/D| 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
39 1F | ERIREE EZVERY—F 48.38( 1/D 4/
40 1F |EEREE Ry~ 2891| 1/D a/v
4 1F | BEHEAEE EZVERY—F 15.63{ 1/D 4/
42 1F |ERE Ry~ 480 1/D 1/D a/v
43 1F  |EREAEE E'ZIVERY - 20.27|| 1/D 4/
44 1IF |EM2EE-wmRER EZIVERY—b 55.82( 1/D 4/Y
45 1F  [XIR=E EZVERY = 4.86| 1/D a/Y
46 1F = FhEE &% 486
47 IF |BT@ BrBE =V ERY—H 12.13{ 1/D 4/
48 1F|EBRE3 AR E M IVBh 11.52 1/D 1/D 1/D 1/D 4/Y
49 1IF |BT® FhiBL VRS~ 94.37|( 1/D a/Y
50 1F |ERE2 AR EMIBG 7.95 1/D 1/D 1/D 1/D 4/
51 IF |BT® FhiBL VRS~ 43.10[ 1/D a/Y
52 1F |BT® BhBE ZVERY—F 18.16 1/D 4/Y
53 IF |BFT® FhiBL VRS~ 50.37 1/D a/Y
54 1F | EBRE AR EMIBG 9.85 1/D 1/D 1/D 1/D 4/
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No. |R51| FE%K ERISFT ER#4 REE
55 1F [TV REB—IL AR E M IVBh 29.87 1/D 1/D 1/D 1/D a7y
56 1F | &&= EZIVERY - 24.49| 1/D 4/Y
57 1F |R#E=E2 E 2RV~ 24.80( 1/D 4/Y
58 IF |ERE=E EZVERY—F 17.87|f 1/D 4/
59 IF |BREE=E EZMVERY—F 8.75( 1/D 4/Y
60 1F |BE1 e % 24.78
61 1F |RT=E FhEEE % 10.21
62 1F |#iH=E {7 S 2.70 1/D 1/D | 1/D | 1/D 4/Y
63 1F |[FRBpA-Sbo& BhiBE VRV~ 5.81( 1/D b 4/Y
64 1F  |&FrL BB =V ERY—H 15.29( 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
65 1F |BFrL BhIBE IRV~ 11.71 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
66 1F |nYF2Y-ML FABE =IVERY—F 9.12 1/D 1/D|1/D|1/D|1/D|1/D| 1/D| 1/D| 4/Y
67 2F  |ELYREZE EZVERY—F 76.00( 1/D 4/Y
68 2F  (AHRESE2 EZVERY - 80.00| 1/D 4/Y
69 2F |REREBE EZVERY—F 78.52| 1/D 4/Y
70 oF | FRE [ 7 S2 4193 1/D 4/Y
71 2F |BRBE EZVERY—F 25.38( 1/D 4/Y
72 2F  |BREMED EZVERY - 4293|| 1/D 4/Y
73 2F |FHAIZE EZVERY—F 19.07f 1/D 4/Y
74 2F |BREER) [ 7 S2 3270 1/D 4/Y
75 2F  |ERHERE EZVERY—F 38.19( 1/D 4/Y
76 2F  |BFEHE 4 Ih—-~"yb 7.80 1/D 17Y
77 2F |BFEHRE2 4Vh—A"yb 7.70 1/D 1/Y
78 2F |BFEHKESI 4 Ih=-~"yb 7.70 1/D 17Y
79 2F |BFEHRE4 4Nh—A"yb 10.32 1/D 1/Y
80 2F  [HRIRE FhiBL =V ERY—b 538 1/D 4/
81 2F | L—THE=E BERIRIRE VRS~ 55.08 1/D A%
82 o2F |BEEGN-TEREE) EZVERY—F 13.73[ 1/D 4/
83 2F |BTO® ABFAEWERM I 171.86| 1/D 4/Y
84 2F |BTQ KEFRAE VRN 5301/ 1/D 4/
85 2F |E W EZIVERY—h 7.12| 1/D 4/Y
86 2F |AE2 EZIVERY—F 9.26f 1/W
87 oF |®#E=ES EZIVERY—h 64.48( 1/D 4/Y
88 2F  |BFHREE EZVERY—F 5.70| 1/D 1/D | 1/D 4/
89 oF  |EEN EZIVERY—h 16.35( 1/W
90 PISE P BrBE =V ERY—H 2.70| 1/D 1/D | 1/D | 1/D a/Y
91 2F  |[FbBvA-SboE BhiBE VRV~ 5.81( 1/D b} a/v
92 2F  |KFML BrBE =V ERY—H 15.29( 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
93 2F  [BFML BSBE 2V ERY—h 11.71 1/D 1/D| 1/D | 1/D [ 1/D|1/D| 1/D | 1/D| 4/Y
94 2F  (NYT7)-MU BrBE =V ERY—H 9.12| 1/D 1/D|1/D | 1/D | 1/D | 1/D| 1/D| 1/D | 4/Y
95 3F  |ENRESIEREE 4Nh—A"yb 46.71 1/D 1/Y
96 3F  [URHA(Bh AR A E) 44Nh—A~"yb 15.93 1/D 1/Y
97 3F  |FERESIEREE 44Nh—A"yb 30.56 1/D 1/Y
98 3F  |THERE 4 Ih=-A"yb 58.85 1/D 1/Y
99 3F  [BRE(THHED) 4Vh—A"yb 9.81 1/D 1/Y
100 3F  |REXIEHEME EZVERY—F 13.62[ 1/D 4/
101 3F  ([REXIEHEME2 Ry~ 8.75 1/D a/v
102 3F |REXIEHEKES EZVERY—F 13.50( 1/D 4/
103 3F  |HEAWEHRE 4Nh—A"yb 13.62 1/D 17Y
104 3F  |BEMEBE 4 h=~"yh 13.62 1/D 1/Y
105 3F  |BEHUE2 4Nh—A"yb 8.85 1/D 1/Y
106 3F  [FAFHEIE 44Vh—Ayk 17.44 1/D 1/Y
107 3F  |[EEHEME2 4Nh—A"yb 13.50 1/D 1/Y
108 3F |BTO® 4 Ih=-A"yb 171.86( 1/D a/Y
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No. |X51| B3k LES T 73] REE
109 3F [EBTO® A4NH-A"yb 53.01( 1/D 4/Y
110 F |EHE 44IH—~"yb 305.63 1/D 1/Y
111 3F  (HEEATVA- A4NH=A"yb 9.00 1/D 1/Y
112 F | ZFHREE EZVERY—b 6.67] 1/D 1/D 4/Y
113 3F | RFEKRE2 EZVERY—b 11.31f 1/D 1/D 4/Y
114 3F |[EE2 EZIVERY—b 15.92 1/W
115 3F |BES EZIVERY—H 31.31)f 1/W
116 F  |[HREE BhiBE 2V ERY—F 2.70[ 1/D 1/D | 1/D | 1/D 4/Y
117 F | FbrA-SboE BhiBE =V ERY—F 5.81] 1/D bt 4/Y
118 3F |ZFhL BhiBE Z IV ERY—F 15.29( 1/D 1/D|1/D|1/D|1/D|1/D | 1/D| 1/D| 4/Y
119 3F  [BFML BhiBE =V ERY—F 11.71 1/D 1/D|1/D|1/D|1/D|1/D|1/D| 1/D| 4/Y
120 3F  (nYF7Y-ML BBE ZIVERY—H 9.12f 1/D 1/D|1/D| 1/D|1/D| 1/D | 1/D | 1/D| 4/Y
121 HiE (BB iR VoR 1/D 1/D 4/Y
122 HiE (B2 BBE ZIVERY—H 1/D 1/D 4/Y
123 #@ [TLAR—4— 1/D 1/D 4/Y
124 B5 |shE 1/D
125 28 [BASR 4/Y
126 2fFf |BE0O-WHEO-KAQ 1/Y
127 2fF |HBHARE 1/Y
128 288 |TS5AUF 1/Y




